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Isoelectronic atoms and ions: the “iso” in “isoelectronic” means “ SaMme 7, so isoelectronic atoms and ions have

the same number bf pleetrons
Example:

» Write the electron configuration for 5% \S.l 2‘37'2 P(" ?;‘31 EP(”

¢ What noble gas is isoelectronic to $%? A\(

¢ List other atoms or ions that are isoelectronic to the $2~ ion: ¥
P> ,CV K (:

Yum, atoms! Let’s practice.

Part I: The counting of electrons.

Orbital Notation

(I R T O A T

N sl

Si IS 2s Q P 38 EP
Electron Configuration ‘ Noble Gas Configuration
15?252 2pb 357 2" TNed 3% 3

Orbital Notation

TR % W e iy 171

AS \S AN »x-? 25 QP L - (“M%.,’dk, L§P
Electron Configuration : Noble Gas Configuration
. 3 1o 3 :
\Sz 2_57' y P('” 332 3 P(’" !“'fS 34 H p I:Awrj Hgl %c{,m

Orbital Notation

O O T e 1
Cl- IS 25 2‘) 3% QF
Electron Configuration _ ‘ ‘ Noble Gas Configuration
52 25% 2p6 35 30 [Ne125%3p

Orhital Notation

ST O s T g U I W s W 8

3 e L
Fe™ 1 is 2s  2p  3g 2p Us 3V
Electron Configuration _ Nohle Gas Configuration
5 —
152257 250357 3p4 Hs” 34 | LAl 24

8¢ \eate ou’(,‘,
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Part 11: Identify the atoms by examining their arrangement of electrons.

Orbital Diagram or Electron Configuration ilzz;zt:sl . ;2::::? Bk
TLTLTL T )
1s €25 2p % (Q B Lj il
[Ne] 35°3p? | S| Si ii(_o=.,«.
1522522p°35%3p%4s%3d" M 2 € I oty
[Ar] 45°3d%p° 15 g Bf}ih e
15225%2p®35%3p%45%3d1%4p®5524d 05 p06s2 4 454 3 Q2 5 ke

Part lll: Matching!

] I _
A Li“fg e [;Hw-:! E 1. This orbital notation shows an element with
P nine total electrons.
B. [y @ U 2. This orbital notation shows an element with
2p three valence electrons. .
C @@Q [ 3. This orbital notation shows an element with
) 15 25 five total electrons.
2p
Y, 4. This orbital notation shows an element with
D. D g the Lewis dot structure shown below.
s 55 -
5 S ‘;p
o
eXS 2 F valence
E &= ) =
Is 25 ey
2p

Part IV: Multiple Choice

1. When the electron in an atom of hydrogen transitions from n = 3 to n = 1, which of the following are true?

I. Energy is emitted. S

II. Energy is absorbed. 2.

ITI. The electron is now in its ground state. . e |
a. lonly b. Ilonly @ I 'and 11l only d. Ilandlllonly

Ly
2. What is the correct noble gas notation for the cation found within the compound AlBrs? :> A\

a. [Ne]3s%3p! c. [Ar]4s?4pb
[He]2s22p® d. [Ar]3s?3pt



